
Graphing Worksheet 
 

A   B   C   D   E   F   G   H   I 
57 56  54  50 42  33  23  12  0    Original commodity =Y axis 

 0   2    4    6    8  10  12 14  16   New commodity= X axis 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
  
List one reason for a shift to the left and one for a shift to the right (Demand is 
Constant) 
 
 
 
 
Plot a point of X to the left of the efficiency line and label it underutilization. 
Explain why you would be at this point given your two commodities 
 
 
 
Plot a point of Y to the right of the efficiency line and label it future. 
Explain how you can get to this point given your two commodities 
 
 


